No.1l

FSwy - J4—JLFHEH - RB - BBiEKXRBALFET)
=372 A = a—F m XsEar FOoEL ARTEREEELFERERIIRRS a— R 19500164 | #HE
IR RARLWEEE AAGEEAAEY MRIRKASAE WRIELBHES BRIRGSEATEN B4 Shonan BW R % o7 LR a— R 142040 RLR TR EE R
L= ey J”E i =) = J”/E': s =) = “LE': dedr. =i = l'LE\ dedr. =i =
ZED) fiigE| Ky | JEL e i w4 g Fofk I B4 Bz ALk I B4 Bz ALk o B4 Bz Aok
07/20|BF 145 R +.om 1= BEsk =0 11.55 [ 2|@4 RX 1|BX 11.98 [ 3|#m@ ® 1|5#8 12.00 [ 4|fFEEEER 1 |HEHE 12.15
100m
5 | hnsk 2 fEn== 12.17 6 [gE Wi 1| 12.23 T8k EKX 1 |BREIFE 12.23 S8R =K 1 |HEB 12. 41
07/20|BF 2% R +0.4mf 1 [#5AK &3 H-H4%4 11.32 (|2|ZB#% X 2 |#BE 11.37 [|3|% FHE 2 |FiA 11.50 [ 4Kl & 2 |[F7E 11.54
100m
5(hEe BZE =40 11.67 [ 6[F#| @ 2 |Rtss 11.67 [7(&m & 2 |#8 11.75 [8/MNR #ER 2 |H%% 12. 31
07/20|BF 3% R +0.6mj| 1 |{IlLA ) =40 10. 82 2|28 BKX 3 |0EHEH 10.98 3@ EAN 3 |HEEFE 11.09 458 B®R 3 |TEH 11.16
100m S EIRE TR S EIRERRRM S EIRERRR SERERERE
5|#HE ZIE B 11.20 6 |85 K Er O == D11 ic) 11.20 TIW@A EBE 3 XAV 11.32 8| BN 3 |RH 11.42
SEBERRR SEBERGR
07/22|BF#@E R +1.4mf| 1 [/ ) =40 21.94 2|28 BX 3 |2EHFH 22.19 J|lzrvaz7me 3 |BJIK 22.54 4|k B 3 |fEA 22. 65
200m SEBERHRR SEBERHRY SEBERHR SERERARE
5|@L HEA HEEE 22.75 6 | 85K Er - == D11 ic) 22.71 1|z #EN 3 |RH 22.82 8|REx BA 3 |HEFE 22.89
SEBERRR
07/20|BF @ R 1|hE i FE 51.05 2|#E WL 3 [T 51.79 J|AR =K 3 [E-HZE 52.10 4 |#k EX 3 |#EE 52.82
400m SEMRAERRER
5 "R KRIKE Hhhae 52.88 6|FE KIE 3 |FHET 53. 56 TIEH#HAE 3 |dJIAE 53. 81 8 |EREREE 3 |EA 54. 41
07/22|BF#@E R 1|ARE B35 Ei 2:00.62 [|2|mIIR 1&& 3 |#Ak 2:01.42 (|13[EH #HE 3 |FTE 2:01.78 (4|33 BEX 3 |HFEHLE 2:02.15
800m
5 | K ERAEKEA F i 2:02.91 | 6= Z 3|F 2:03.11 | 7|B#&—BF 3 |BEEE 2:03.91 (18|22 183 3 |&HE 2:12.05
0//20|BF 1 & R T[AR & B 4732 11 | 2[/EE M 1 |[AE 4:32.45 |[3[NE &E 1 |mN 4:33.67 || 4|RARAE 1 |8 43429
1500m
5[&R ! EfFiE 4:34.43 6|75 #&# 1 |BW 4:36.36 [ 7:%:8 1 [l 4:36.37 (8| L3 1| 4:36. 41
01/20|BF @ R T|ARER  Eash B 4:07.65 ||2|km®, HE 3 [slmA 4:10.91 |3|AB & 3 [@=H 4:12.08 || 4|5k 18 3 |BEIE 4714, 22
1500m SEMRAE R
5|RIE hK 12HET 4:14.53 [ 6 |ZEBEfM—B 3 |#REF 4:14.60 |7 [z Z 3|F 4:14.70 [|8[uA WK 3 |E-HER 4:14.72
07/22| BF5E  |IRRBE N BAIT 9:01.83 2[R %8 3 |—= 9:02.28 |38 BA 3 |ZkFh 9:02.39 |4[ILA WA 3 k- Bx 9:04. 72
3000m
5 | B —BA picy=d 9:07.76 || 6|l fFE 3 |FE 9:10.26 (| 7|&kE BF 3 |F@ 9:11.26 (|8 |+ MK 3 |k 9:13.34
07/20(BF5& R | |0 20 T|UE %:® 3 |[ETR 1439 |2|71B B¥ 3 E-mhrkE 446 | 3B mE 3 |KZ 14.82 | 4|1 B 3 |FI& 14.94
110mH[0. 914m/9. 14m] SERA R SERAE R SERAE R SERERRRE
5| K& i =R 15. 00 6|FAX KE 3 |[HE 15. 06 Rk fEE 3 |FEHRE DQ A F£ 3 |8B# DNS
S EEERBREW




No.2

FSw9Y - J4—J)LFTEH - RS - BEERGBMFET)
bt )| a— K m R FOoEL ARTEREEELFERERIIRRS a—F 19500164 | £ e
IR RARLWEEE AAGEEAAEY MRIRKASAE WRIELBHES BRIRGSEATEN B4 Shonan BW R % o7 LR a— R 142040 RLR TR EE R
SITI I CI vl FUT B /o P 2% R CUN S i CUN A S F e | s FR i
07/22|BF 15 R HE mE 1 £F k1 = EX 1 hi EBE 1
4 x100m 1w L&A 1P 48.74 2 | hnk pi= A W b 49.58 3 EE 1R 7 5 49.71 485K = 1= % 49.82
J\3R B g Ry 1 N BE 1 = fm— 1
BEEEN 1 it E 1 /ML — 1 =2 W 1
mH wE 1 BAREREAN 1 EAIEx 1 wE Xg 1
5|8k BEX 1[=/IF 49.90 6% ZTEX 1|"AE 50. 22 TIER #hst N 50. 25 8|ty BETF 1Kz 50. 37
#HA EE 1 TAIERIAE 1 =# &1 AAFAREE 1
2 H Bt 1 aE BbE 1 IINBIT St 1 A 7 orET ]
07/22| BF#£E R hE BE 2 xR #%2  3 aiE W3 R t&&E 3
4 x100m 1w o) JIEA 43. 46 2188 B®R 3 |TWHE 43.94 3|1#Nl Bk 3| KE 44.03 4|%HE ZNE RIS 44.33
INEFIEFK 3 EHk =& 3 N OfGEE 3 fE BA 3
PSR ARER 3 hE @ 3 kB Fik 3 X F#gK 2
e Eth 2 & BIKER 3 BKX BX 3 BH® EA 3
5|K+ ZH 3|HHRE 44. 41 6 |hft A 3|#gHET 44.54 | 7|#EL EAN 3 [AEEE 44.70 |[8|FIR BEEH 2 [REt4 B 44.76
ERKRRE 3 wWE B+ 3 2R & 3 kB K& 3
EH OBRA 3 ZE w3 b =F 3 B Fa—BR 3
07/20|BF @ R 1fem EZE 3|/hHE 1.85 2|#FnE WA 3 |RAE 1.85 3| &+ B3 |®Rxie 1.85 4|4 RE J|E-B 1.82
E= Bk SEMRAERRER S EMRAERRER LEMRRERRER
5[EH K@ 3 ([K#E 1.82 6lBR ®EF 3[R 1.82 T1B8# ®#BE: 3 |BE 1.79 8|/ ZE; 3 |i&AR 1.76
8|AH &k 3 |mE 1.76
07/20| BF @ R T[=8 &3 3 || 390 (2|AEB = 3 |tem 3.80 |3|AH E=A 3 |LEM@ 3.80 | 4|WF& 1BE 3 |A- &R 3.50
=k
5|1&®% WA 2 |/hAE 3.50 6|mE E£F 3 #E 3.40 T1MRME BR 2 1R A 3.40 8 |85k X 2|EEH 3.40
07/20|BF 1 & R T 2 1 = 5.93(+0. D[ 2|’ WF 1 |RAE 5.53 || 3|k=m &% 1 |=I 5.45(+1. )| 4 |kfE Ifh 1 |mAE 5.45(+1.3)
B SRR +0. 6 2nd 5. 38 2nd 5.27
blEm ®E 1 [#0F 5.42 6= Bl 1 |E 5.32 T #BE 1 |[RET8 5.22 8|k 2 1 |HW 5.10
_ _ +1.2 _ +0. 6 +0. 5 _ +1.5
07/22|BF#@ R 1% BEiE 3 [BILER 6.59(+1.2) 2 |=8 MHE 3[R 6.45 3o =R 3 E- AR 6.40 AleE A 3 [dosEs 6.37
EE Bk SERERBR +1.1 -0. 1 +0. 2
5{ERAREBAN 3 |HAR 6.34(0.0) [ 6 |f2@A &F 3 [FiE 6.34(+0. )| 7 | =5 M 3 |= 6.21 8|hE EF 3 |EBEE 6.12
_ 2nd 6.28 _ 2nd 6. 26 +0. 8 +1.7
07/20(BF#&E R 1kWASFHhy 3 |BRIE 13.78 2/luE MEd 3 |[+HWE 13. 66 JIE EX 3 |/hH 12. 40 41E8 Fth 3 |KE 12.33
fia# 3% [5. 000kg] SEMERRREN SEHEERREN
5IRE H®T 3 |HAAR 12.20 6|#@E Z=A 3 |LEHA 12.13 1|RE w3 |1gHT 11.92 8|78H ®i#% 3 |BExXR 11. 81
01/22|BF @ gy 2R BZ 3 |IH 2691m || 2| kLASTho 3 |EEIE 209Tm || 3| T4 3 |BmAa— 2475 | 4|AE ME 3 |EEHm 22088
PaFE R I & ERE R
S5IIFMRI#EE 3 |FEKEM 22045 |[6|FH ZEHE 2 [KE 21805 [[7(&0 I 3 [@A# 21161 [[8|&X%Z ik 3 [EHE 20575




No.3

FSwD - T4—)LRTEH - R - BEROBELFET)
bt #ZE| a—k [ gtian  H6SELBADYEEER EBHAEIIEAS a— 19500164 | HHE  movsoswomsossm s
EARE A BAREBEER BAPPRAEEN #RIRLAEEAR ARIIRLERHR H5)IRPEREEER B A4 Shonan BW X% 7 LFEIF a— R 142040 SRR BE RN
L= ey J”E i =) = J”/E': s =) = “LE': dedr. =i = l'LE\ dedr. =i =
A+ i H Ky | JEL e i w4 i) FLek I B4 & ALk I B4 GiE] ALk o B4 iG] ERk S
07/20(&ZF 1% R 0.0ml1|5x#H HiL 1|=H 13.10 2 rrmmrs«—+ 1 [{RET 13.18 3|\Vvo B3 # - S 13.23 41kt XKifE 1 |ESR 13.24
100m
5|/\& #%F 1 |pR 13.27 6[KEF21U— 1 [{#EE 13. 34 T(miE %4 HELE 13. 36 8 |Fl B O1[RE 13. M1
07/20|&F2 & R +1.0ml| 1 [pEvz=5r—me 2 | K2 12.25 2|5 g2 |HE 12. 46 3|t BT [EapN:] 12.70 4IRE Fm 2 |FE 12.71
100m [OUPRHp— SER R
5(AE #&E 2 [&# 12.73 6|/hk < 2 |E2H 12.77 1|% BF A XERR 12.90 8(AH XEF 2 [FM 13.13
07/20|%F 3% R 0.0mf1|ILE T 3 [4BR 12.39 2|28 7 3 |#zN 12. 47 RIE[RS SN AES E2d 12. 61 41#HE tiEE 3 |Em 12.62
100m SEMRERRREM SEHRERRRIH
5|8 HUBY 3 |FEXKED 12. 63 6| TFHEER 3 |E 12.71 T|EE Z# TR 12.79 8|Md fE'E 3 [#x 12. 86
07/22| ¥ @ R +0. Tmf| 1 [pEvz=7-mz 2 |KiE 25. 41 2|%&8 7 3 |[mz 25.49 3| FHEER E 25.88 4|IefstzIE 3 |FTB 25.95
200m SEMRAERRER S EMRAERRER
5ZINBEE 3 |=ERIF 26.18 6li&E EFE 3 |FEF 26.20 7H2 BF A 26. 39 W\ ®mAh o 3 (ME DNS
07/22|ZF1 & R 1l/hk &HE 1 |BHm 2:26.27 (|2 |y 1 |E 2:26.52 (|3 |F#HETLH i 2:26.57 (|42 BEW 1 |XKEHE 2:28.38
800m SELER SECER AL
5|18k B4l 1 JE-jE 2:28.96 ||6|%h BE 1 |HEE 2:30.26 || 7 |/h#k £ BS 2:31.64 |8|HF #F 1 |EHAE 2:31.87
07/22| ¥ @ R 15E ZF 3 |ER 2:14.52 || 2|&F E 3 |FE 2:17.43 || 3 |#% FiF = 2:18.06 (|4|[/\VyHBYE 3|l -BHE 2:18.63
800m SEMRAE R
5|8 %ZE 3[E-HE 2:21.30 (|6 |FEfE X 3 |EEE 2:22. 71 || 7T|[=mBUV&Y 0= 2:24.20 kB #HFE 3 [ER DNS
07/20| & F#:@ R B 28 3 8% 4:37.88 |2|BF @M 3 E-@WHE | 44497 |3[ILF Dah 58 44511 |4[R BZx 2 |A® 4:45.47
1500m SEMRAE R
5\ E£E 3 |FEE 4:46.00 [|6|&t L ®&E 3 |FEH 4:48.03 [|7|BH ZE=E Z2H 4:48.11 |[8|fH B3 -FEN 4:48.59
07/20| % F @ REB | 0.0 1| KBTHN 3 Bk 419 |2]@& W& 3R 437 |[3|mA &R &R 14.75 | 4|[EmEEa 2 |FIE 14.82
100mH[0. 762m/8. 00m] L ERERREH S ERERREH S EEE TR
5[/h#k BEF 3 [E-HHAR 14.83 6[;EK =B 3 |43 14.92 T|BR ®#8K i 14.92 8| KEHNM 3 |BEXR 14.95




No.4

bSvY - J4— )L FIEE - RB - BRER BRLET)
bely I a—F m RS EaEd E60EIE B ARIARBERE EHRARIIRRS a— K 19500164 | #HIE LA 0 A
IR RARLWEEE AAGEEAAEY MRIRKASAE WRIELBHES BRIRGSEATEN B4 Shonan BW R % o7 LR a— R 142040 RLR TR EE R
SITI I CI vl FUT B /o P 2% R, CUN S i CUN A S i e | s i sk
07/22|%F 15 R AR BT nm =11 FIER DE 1 Ak Bk 1
4% 100m 1iEE EE 1 |KBE 54.30 (2| R 1|EE 54.42 (13|#aH# HL 1 (FELE 54.44 | 4K B 1 |EMAE 54. M
HAERE 1 ®RE = 1 TR HMF 1 X B 1
ER BF 1 IBIREAE 1 mEE EL 1 By YL 1
NI BE 1 RE DFE 1 ng E HaFEos 1
52k BF 1[#%x 54.72 | 6[BEL BH 1|F7IE 54. 87 18# W1 |K#e 54.87 | 8|%kE 1&IE 1 |RAE 55.18
RE 2 1 S L TKBEE 1 25 % 1
®E #BA 1 FM W1 FHEBEKR 1 i 1
07/22| & F & R HE FiE 3 K& KF 2 xF -1 2 hi Xig 1
4 x100m 1&E &Fx 3 |#Em 49.37 |[ 2|8k #E  3|E 50.08 |[3|EHEUVLSY 3 [F KA 50.23 |4 [#&KREHh 3 |RES 50. 35
ME KR 2 £ KM 3 fEE BE 3 JeH B3
#FE £t 3 BB wie 3 i 2 H BAx 3
B Fx 3 A #BHEF 3 #BHE R 2 WE EE 2
5[ W& 3|+ 50. 45 6|XH#H ZEE 3[E-HE 50. 49 11ES ¥Em 2|FE 50. 53 ERNPHEE  3|EFIE D@ R1
" E® 3 ¥iE X&F 3 BE AR 2 FIER BER 3
i ERE 2 —fE Ex 3 EfE X#E 3 Bo x5 3
07/20| & F3t3@ RS 1|#&EE Kk 3 |FE 1.63 2[®&nnoa4 3 [ZaE 1.60 3|[EALCBHH» 2 |tE 1.60 3| EB E#HE 3 |EFH 1.60
EEZB sEEERREY cEEERRY cEEERRY SEEERIRR
SHEBEFI 3 |F# 1.60 [6|FE<> 3 [KF0 1.60 | 7|LisBEE 3 [EE 1.67 8|74/ IR% 3 |E+HE 1.54
SEEEREREY SEELRRE
07/22| %% 1% R 182 8E 1 |#EE¥K 4.87 |[2]&@ ®X 1 |&E 4.66 |[3[wmok M 1 |X@ 4.54 4|/ E 1 |K 4.40
ENER -0.7 -1.4 -1.1 +0.2
5|2 & 1 |m#E 4.31 6|1EE #xE 1 |KE 430 ||7T|FER ZE 1 |FAY 424 |I8|KA ¥E 1| -#R 4.22
-0.7 -0.7 -0.5 -0.8
07/20| & F33& R TB0 &5 3 |=sie 550(r2.9)| 2| EE 3 |[mE 536 |3|®H BR 2 1Lk 533 |4|X®H m=x 2 |=R 5.29
EEBE 45.33(+1.7) +1.3 +1.2 +1.4
S5|EIEWHE 2 |[EX 529 [6(A" & 2 |Hit 5.21 T|ILE = 3 |mEH 514 (8(#E BE 3 |REYH 5.06
_ +0.7 +0.9 _ +0.3 _ +0.9
07/20|ZF3t@ R 1EHER &% 3 |ER 13.74 |[2|Xre #¥r 3 (A - BBE 12.39 [[3|E%H #mm 3 |[WHE 12.17 |4 (B 2 3 |IEH 12.00
faf k(2. 721ke] SENEERRER
5[RF ZFM 2[R 11.79 ||6|HK #F 3 [hi5 10.94 || 7 |AEHEMKE 2 [HRE 10.88 (8| TFHERF 2 |E-HAE 10. 87
07/22| % Fi@ RE TRl BF 2 [BAD 2604 | 2|LsEMRE 3 |EE 2519 || 3|E#E =% 3 |FMH 24655 (|4|F0E R 2 |#EmE 2458
PO FE R
5|8 &Fx 3 |E® 27| || 6|FEE BTE 3 |WE 2306 || 7k 7ELH 3 |MEF 2289 || 8[HIIIERETE 3 |KR% 2268




